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V108 — V48 — V27 + V24
=6V3-4v3-3V3+2V6
=-V3+2v6

La-b=-1-2=-3
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m+n=X=2 23s5tH

Lt = (0 e+ )
= (m+n—4m)(m+n+ 2m)
= (n—3m)(3m+ n)
. (n—3m)+
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x?—2x =1t 2 5tH

(t—5)(t-6) -6

=r-11r+24

=(1-3)(1-8)

= (x*-2x-3)(x* —2x - 8)
=x=-3)(x+1)(x+2)(x—4)
La+b+c+d=-3+1+2-4=-4
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(x-Dx-7)(x-3)(x-5)+k

:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,

(A+7)(A+15)+k
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@D a-b>0 @ b-a<0 ® b+ V7>3
@ ab>0 @a+1>0

a-b=V8-3-(-V7+ V8)
©) =7-3
=V7i-v9<0
La—-b<0
b-a=-\7+ V8- (V8-3)
©) =-V7+3
= V9-V7>0
Lb—a>0
@ (FHH)=b+ VT =-VT+ 8+ V7= V8
($¥)=3= 19
.'.b~|—\/7<3
a=V8-3= V8- V9<0
b= V8- V7>0
soab< 0
a+1:(\/§—3)+1
® =V8-2
= V8- +Vi>0
La+1>0
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D a+b=12 @ c+d=3V3+5
@3(a+b)>c+d @ b-a>0
® c-d<0
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VI2+2=5.XxX «d
3V2-4=0.xxxX —a
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34+ V3=4 xxxc
®a+b=V2-3a+b)=3V2
c+d=3V3+5
3(a+b)—(c+d) =3V2-(3V3+5)
= V18- V27-5<0
~3a+b)<c+d
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@ V32-2v24- V2(1+2V3)=3V2-6V6
3 V2
@ \/5(3+2«/6)—3(«/§+2) =3V2+3V3
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DV32-2v24- V2(1+2v3)
=4V2-4v6- (V2 +26)
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=3V2-6V6
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=3V2+3V3

®V6(V24 -3+2)
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Vi=a-129 FHAE AFNA x = (a—1)?
Va2 +2a+1+ Va?2 —6a+9

= V{a+17+ /(a-3)

=la+ 1|+ |a - 3|

—a+1-a+3=4
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@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-(y-1)}
=xy(x-1)(y-1)




